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CHAPTER 8—PROFITABILITY
MULTIPLE CHOICE

1.
Which of the following is not a base against which profits are measured?

	a.
	Owners' equity

	b.
	Owners' and creditors' funds provided

	c.
	Intangibles

	d.
	Revenues

	e.
	Productive assets


ANS:
C
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 1 min.



2.
Net profit margin measures return on:

	a.
	sales.

	b.
	owners' equity.

	c.
	productive assets.

	d.
	total assets.

	e.
	inventory.


ANS:
A
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



3.
Total asset turnover measures the ability of a firm to:

	a.
	generate profits on sales.

	b.
	generate sales through the use of assets.

	c.
	buy new assets.

	d.
	move inventory.

	e.
	cover long-term debt.


ANS:
B
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



4.
The DuPont method return on assets uses two component ratios. What are they?

	a.
	Inventory turnover  gross profit margin

	b.
	Times interest earned  debt ratio

	c.
	Return on equity  dividend payout

	d.
	Net profit margin  total asset turnover

	e.
	Return on investment  total investment turnover


ANS:
D
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



5.
Return on assets cannot fall under which of the following circumstances?

	
	Net Profit Margin
	Total Asset Turnover

	I.
	decline
	rise

	II.
	rise
	decline

	III.
	rise
	rise

	IV.
	decline
	decline


	a.
	I

	b.
	II

	c.
	III

	d.
	IV

	e.
	The ratio could fall under all of the answers.


ANS:
C
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 1 min.



6.
A reason that equity earnings create a problem in analyzing profitability is that equity earnings are:

	a.
	usually greater than the related cash flow.

	b.
	less than dividends declared.

	c.
	more than dividends declared.

	d.
	extraordinary.

	e.
	nonrecurring.


ANS:
A
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 3 min.



7.
In the analysis of profitability, if equity earnings are substantial, it is advisable to:

	a.
	consider them as extraordinary.

	b.
	consider them as nonrecurring.

	c.
	investigate the earning power of the parent outside of the related investing activities.

	d.
	recompute the debt ratio and times interest earned to remove the impact of equity earnings.

	e.
	use the DuPont method to lessen the impact of equity earnings.


ANS:
C
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 1 min.



8.
Which of the following is not a type of operating asset?

	a.
	Inventory

	b.
	Cash

	c.
	Land

	d.
	Long-term investments

	e.
	Equipment


ANS:
D
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



9.
Operating income is:

	a.
	net sales less cost of goods sold.

	b.
	earnings before interest and tax.

	c.
	earnings before tax and nonrecurring items.

	d.
	gross profit less operating expenses.

	e.
	net income plus interest.


ANS:
D
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



10.
Which of the following circumstances will cause sales to fixed assets to be abnormally high?

	a.
	A recent purchase of land.

	b.
	A labor-intensive industry.

	c.
	A highly mechanized facility.

	d.
	High direct labor costs from a new union contract.

	e.
	The use of units-of-production depreciation.


ANS:
B
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 3 min.



11.
Which of the following ratios will usually have the lowest percent?

	a.
	Return on investment

	b.
	Return on total equity

	c.
	Return on common equity

	d.
	Return on total assets

	e.
	There is not enough information to tell


ANS:
D
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 1 min.



12.
Which suppliers of funds bear the greatest risk and should therefore earn the greatest return?

	a.
	Bondholders

	b.
	Suppliers

	c.
	General creditors such as banks

	d.
	Preferred shareholders

	e.
	Common shareholders


ANS:
E
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



13.
Gross profit margin is an important ratio of merchandising firms because:

	a.
	their investments in real property are high.

	b.
	cost of goods sold is usually the largest expense.

	c.
	selling expenses, like advertising, are usually quite high.

	d.
	it measures their ability to collect receivables.

	e.
	it measures their ability to use total assets.


ANS:
B
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



14.
Which of the following is not a reporting requirement on interim reports?

	a.
	Seasonal information

	b.
	Major changes in income tax provision

	c.
	Full balance sheet

	d.
	Earnings per share

	e.
	Significant changes in financial position


ANS:
C
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Reporting | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Interim Reports

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



15.
Income tax expense in interim reporting should:

	a.
	be based on the quarterly income only.

	b.
	contain a judgment estimation of the annual effective tax rate.

	c.
	be based on the income year-to-date.

	d.
	exclude extraordinary items in earlier quarters of the year.

	e.
	disregard year-end adjustments.


ANS:
B
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Reporting | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Interim Reports

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



16.
Noncontrolling interest share of earnings is:

	a.
	the total earnings of unconsolidated subsidiaries.

	b.
	earnings based on the percent of holdings by parent company of unconsolidated subsidiaries.

	c.
	the total earnings of consolidated subsidiaries.

	d.
	earnings based on the percent of holdings by outside owners of consolidated subsidiaries.

	e.
	none of the answers are correct.


ANS:
D
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 3 min.



17.
Net earnings before deducting noncontrolling share of earnings is utilized in the following ratios, since noncontrolling interests are included in the base. Which ratio is an exception to this statement?

	a.
	Net profit margin

	b.
	Return on assets

	c.
	Return on equity

	d.
	Return on investment

	e.
	None of the answers are correct.


ANS:
C
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 3 min.



18.
Which of the following would most likely cause a rise in net profit margin?

	a.
	Increased sales

	b.
	Decreased preferred dividends

	c.
	Increased cost of sales

	d.
	Decreased operating expenses

	e.
	Decreased earnings per share


ANS:
D
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Application

NOT:
Time: 3 min.



19.
Which of the following could cause return on assets to decline when net profit margin is increasing?

	a.
	Sale of investments at year-end

	b.
	Increased turnover of operating assets

	c.
	Decline in book value

	d.
	A stock split

	e.
	Purchase of a new building at year-end


ANS:
E
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Application

NOT:
Time: 3 min.



20.
Which of the following expresses DuPont analysis?

	a.
	Net profit margin = total asset turnover times return on assets

	b.
	Total asset turnover = operating asset turnover times financial leverage

	c.
	Return on assets = net profit margin times total asset turnover

	d.
	Return on investment = return on equity (1  tax rate)

	e.
	Dividend yield = dividend payout times earnings per share


ANS:
C
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



21.
Operating assets equals:

	a.
	cash, accounts receivable, and equipment.

	b.
	current assets plus tangible assets.

	c.
	total assets minus intangible assets.

	d.
	only long-term assets.

	e.
	only current assets.


ANS:
B
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



22.
Return on investment measures:

	a.
	return to all suppliers of funds.

	b.
	return to all long-term creditors.

	c.
	return to all long-term suppliers of funds.

	d.
	return to stockholders.

	e.
	return to all short-term suppliers of funds.


ANS:
C
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



23.
In the formula for return on investment, interest expense is multiplied by (1  tax rate). Why is this adjustment made?

	a.
	Interest is not tax deductible

	b.
	Debt is excluded from the denominator

	c.
	Net income in the formula is after tax

	d.
	Dividends are not deductible for tax purposes

	e.
	None of the answers are correct.


ANS:
C
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.


TRUE/FALSE

1.
Profitability is the ability of the firm to generate earnings.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



2.
In profitability analysis, absolute numbers are more meaningful than relative numbers because the analyst needs to know if one firm earned more dollars than the other.
ANS:
F
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 1 min.



3.
Net profit margin is net profit before noncontrolling share of earnings and nonrecurring items to total assets.
ANS:
F
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



4.
The use of debt with high interest charges may cause the net profit margin to be low.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 1 min.



5.
High fixed costs in a period of low activity can cause a low net profit margin.
ANS:
T
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 1 min.



6.
DuPont analysis breaks return on assets into net profit margin and borrowing capacity.
ANS:
F
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



7.
Either a drop in net profit margin or a drop in total asset turnover, or both, can cause return on assets to fall.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 1 min.



8.
Equity earnings are usually lower than the cash generated from the investment as dividends.
ANS:
F
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



9.
Operating assets exclude investments, land, and intangibles from the asset base.
ANS:
F
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 1 min.



10.
The operating ratios may give significantly different results from net earnings ratios if a firm has large amounts of nonoperating assets generating income.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



11.
DuPont analysis can be done with net income or operating income figures as long as the related asset base is consistent.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Comprehension

NOT:
Time: 1 min.



12.
Sales to fixed assets will have the least meaning if assets are relatively new.
ANS:
F
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



13.
Return on investment measures the return on long-term suppliers of funds.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



14.
Return on investment will typically be lower than return on equity.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



15.
Redeemable preferred stock is best considered as equity for ratio analysis.
ANS:
F
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



16.
Changes in the cost of goods sold can have a substantial impact on gross profit margin.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



17.
In order to compute gross profit margin, the income statement must be in single-step format.
ANS:
F
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



18.
Ratios of profits to sales and to identifiable assets can help to analyze profitability by segment.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Segment Reporting

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



19.
Segment data contain information about geographic markets, including foreign countries.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Segment Reporting

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



20.
An interim period is a fiscal period less than one year.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Interim Reports

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



21.
Interim reporting recognizes that timeliness of data offsets lack of detail and requires only minimum data.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Interim Reports

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



22.
Interim reports are usually audited.
ANS:
F
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Interim Reports

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



23.
Interim reports are useful in analyzing the impact of seasonality.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Interim Reports

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



24.
Interim reports cover fiscal periods of less than one year.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Interim Reports

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



25.
The SEC requires interim financial data on Form 10-Q.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Interim Reports

KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.



26.
When used properly, pro forma financial information makes a positive contribution to financial reporting.
ANS:
T
PTS:
1
DIF:
Difficulty: Easy


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Pro-Forma Financial Information
KEY:
Bloom's: Knowledge

NOT:
Time: 1 min.


PROBLEM

1.
Required:

Indicate the effect of the transactions listed below on each of the following: working capital, current ratio, debt ratio, net income, and stockholders' equity. Use + to indicate an increase,  to indicate a decrease, and 0 to indicate no effect. Assume an initial current ratio of more than 1 to 1.

	
	
	Working
	Current
	Debt
	Net
	Stockholders'

	
	Transaction
	Capital
	Ratio
	Ratio
	Income
	Equity

	a.
	A cash dividend is declared and paid.
	____
	____
	____
	____
	____

	b.
	Cash is obtained through long-term bank loans. (Do not consider interest.)
	____
	____
	____
	____
	____

	c.
	Equipment is purchased with short-term notes. (Do not consider interest.)
	____
	____
	____
	____
	____

	d.
	Merchandise is purchased on credit.
	____
	____
	____
	____
	____

	e.
	A fixed asset is sold for more than book value.
	____
	____
	____
	____
	____

	f.
	A stock split takes effect.
	____
	____
	____
	____
	____

	g.
	Current operating expenses not previously recognized are paid.
	____
	____
	____
	____
	____

	h.
	A firm makes a long-term cash investment in the stock of a consolidated subsidiary.
	____
	____
	____
	____
	____

	i.
	A firm recognizes depreciation expense.
	____
	____
	____
	____
	____

	j.
	A firm refinances short-term notes with long-term notes. (Ignore interest.)
	____
	____
	____
	____
	____


ANS:


	
	
	Working
	Current
	Debt
	Net
	Stockholder's

	
	Transaction
	Capital
	Ratio
	Ratio
	Income
	Equity

	a.
	A cash dividend is declared and paid.
	
	
	+
	0
	

	b.
	Cash is obtained through long-term bank loans. (Do not consider interest.)
	+
	+
	+
	0
	0

	c.
	Equipment is purchased with short-term notes. (Do not consider interest.)
	
	
	+
	0
	0

	d.
	Merchandise is purchased on credit.
	0
	
	+
	0
	0

	e.
	A fixed asset is sold for more than book value.
	+
	+
	
	+
	+

	f.
	A stock split takes effect.
	0
	0
	0
	0
	0

	g.
	Current operating expenses not previously recognized are paid.
	
	
	+
	
	

	h.
	A firm makes a long-term cash investment in the stock of a consolidated subsidiary.
	
	
	0
	0
	0

	i.
	A firm recognizes depreciation expense.
	0
	0
	+
	
	

	j.
	A firm refinances short-term notes with long-term notes. (Ignore interest.)
	+
	+
	0
	0
	0


PTS:
1
DIF:
Difficulty: Moderate

NAT:
BUSPROG: Analytic

STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Application

NOT:
Time: 20 min.



2.
DuBois, Inc., experienced the following trend in operating profit ratios for the five years ended in 2012.

	
	Operating Income
	Return on

	
	Margin
	Operating Assets

	2012
	9.7%
	12.2%

	2011
	9.3%
	11.5%

	2010
	9.1%
	11.2%

	2009
	8.8%
	10.6%

	2008
	8.6%
	10.1%


Required:

Using the DuPont analysis, determine whether the trend in turnover increased the return on operating assets or lowered it.
ANS:


	
	
	
	
	
	Operating

	
	Return on
	
	Operating Income
	
	Asset

	
	Operating Assets
	=
	Margin
	
	Turnover

	2012
	12.2%
	=
	9.7%
	
	1.26

	2011
	11.5%
	=
	9.3%
	
	1.24

	2010
	11.2%
	=
	9.1%
	
	1.23

	2009
	10.6%
	=
	8.8%
	
	1.20

	2008
	10.1%
	=
	8.6%
	
	1.17


Operating asset turnover has risen. This helped increase the rate of growth of return on operating assets.
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3.
Fluctuation, Inc., recorded the following profit figures in 2010-2012.

	
	2012
	2011
	2010

	Net sales
	$30,500
	$25,600 
	$22,900 

	Costs and expenses:
	
	
	

	   Cost of products sold
	$12,600
	$10,300 
	$ 8,350 

	   Selling
	7,875
	5,025 
	4,580 

	   General
	2,950
	2,325 
	2,150 

	   Research and development
	  4,100
	  3,190 
	  2,840 

	
	$27,525
	$20,840 
	$17,920 

	Operating income
	$ 2,975
	$ 4,760 
	$ 4,980 

	Other income (expense)
	    525
	   (300)
	   (400)

	Earnings before tax
	$ 3,500
	$ 4,460 
	$ 4,580 

	Income tax
	  1,480
	  1,990 
	  2,100 

	Net income
	$ 2,020
	$ 2,470 
	$ 2,480 


Required:

	a.
	Compute the net profit margin for 2010-2012.

	b.
	Compute the gross profit margin for 2010-2012.

	c.
	Describe the trend in profitability and pinpoint its causes.


ANS:


	a.
	Net Profit Margin =
	2012 
	2011
	2010
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	6.62%
	9.65%
	10.83%


	b.
	Gross Profit Margin =
	
	
	

	
	
	$30,500 
	$25,600 
	$22,900 

	
	
	(12,600)
	(10,300)
	 (8,350)

	
	Gross Profit
	$17,900 
	$15,300 
	$14,550 

	
	Sales
	$30,500 
	$25,600 
	$22,900 

	
	
	58.69%
	59.77%
	63.54%


	c.
	Both net profit margin and gross profit margin have declined in the three years. A major factor has been the rising cost of goods which causes gross profit to fall. Selling expenses, general expenses, and research and development expenses have all increased in relation to net sales.

	
	
	2012 
	2011
	2010

	
	Selling
	25.82%
	19.63%
	20.00%

	
	General
	9.67 
	9.08 
	9.39 

	
	R&D
	13.44 
	12.46 
	12.40 

	
	
	
	
	

	
	Selling expenses, in particular, impaired 2012 profit.
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4.
The following are extracted from the financial statements of Frem, Inc., for 2012, 2011, and 2010.

	
	2012 
	2011
	2010

	Net sales
	$233,000 
	$204,000 
	

	Cost of sales
	(124,000)
	(110,000)
	

	Selling and administrative expenses
	(95,000)
	(81,500)
	

	
	
	
	

	Other income:
	
	
	

	   Interest
	(3,700)
	(3,050)
	

	   Other
	     100 
	   1,175 
	

	Earnings before tax and extraordinary credit
	$ 10,400 
	$ 10,625 
	

	Provision for income tax
	(4,800)
	(4,740)
	

	Earnings before extraordinary credit
	5,600 
	5,885 
	

	Extraordinary credit
	      - 
	   1,510 
	

	
	$  5,600 
	$  7,395 
	

	
	
	
	

	Total assets
	$202,000 
	$173,000 
	$161,000

	Long-term debt
	24,600 
	17,400 
	15,200

	Common equity
	123,000 
	116,800 
	112,800

	Preferred stock
	4,000 
	4,000 
	4,000

	Preferred dividends
	280 
	280 
	280


Required:

	a.
	Compute the following ratios for 2012 and 2011.

	
	1.
	Net profit margin

	
	2.
	Total asset turnover

	
	3.
	Return on assets

	
	4.
	Return on investment

	
	5.
	Return on total equity

	
	6.
	Return on common equity

	
	7.
	Gross profit margin

	
	

	b.
	Discuss the trend in profitability and identify specific causes for the trend.


ANS:


	a.
	1.
	Net Profit Margin =
	2012
	2011
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	= 2.40%
	2.88%


	
	2.
	Total Asset Turnover =
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1.22 times

	
	
	  
	


	
	3.
	Return On Assets =
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	4.
	Return On Investment =
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	Net income before extraordinary item
	$5,600 
	$5,885 

	
	
	Interest expense
	3,700 
	3,050 

	
	
	Tax rate:
	
	

	
	
	2008
	[image: image15.png]$4, 800
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	= 46.15%
	

	
	
	
	
	
	

	
	
	2007
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	= 44.61%
	

	
	
	
	
	

	
	
	Interest expense* (1  t)
	1,992 
	1,689 

	
	
	
	
	

	
	
	Net income before extraordinary item + interest
	
	

	
	
	   expense (1  t)
	
	

	
	
	      (5,600 + 1,992)[A]
	7,592 
	

	
	
	      (5,885 + 1,689)[A]
	
	7,574 

	
	
	
	
	

	
	
	Long-term liabilities and stockholders' equity:
	
	

	
	
	Beginning of year:
	
	

	
	
	     Long-term debt
	$ 17,400 
	$ 15,200 

	
	
	     Common equity
	116,800 
	112,800 

	
	
	     Preferred stock
	4,000 
	4,000 

	
	
	
	
	

	
	
	End of year:
	
	

	
	
	     Long-term debt
	24,600 
	17,400 

	
	
	     Common equity
	123,000 
	116,800 

	
	
	     Preferred stock
	   4,000 
	   4,000 

	
	
	
	
	

	
	
	Total
	$289,800 
	$270,200 

	
	
	Average [B]
	144,900 
	135,100 

	
	
	
	
	

	
	
	Return on investment [A]/[B]
	5.24%
	5.61%


	
	5.
	Return on Equity =

	
	
	[image: image17.png]Net mcome before nonrecurring Items — Dividends on Redeemable Preferred Stock
“Average Total Equity






	
	
	

	
	
	Net income before nonrecurring items
	
	

	
	
	     Dividends on redeemable preferred stock [A]
	$  5,600 
	$  5,885 

	
	
	
	
	

	
	
	Total equity:
	
	

	
	
	Beginning of year:
	
	

	
	
	     Common equity
	$116,800 
	$112,800 

	
	
	     Preferred stock
	4,000 
	4,000 

	
	
	End of year:
	
	

	
	
	     Common stock
	123,000 
	116,800 

	
	
	     Preferred stock
	   4,000 
	   4,000 

	
	
	     Total
	$247,800 
	$237,600 

	
	
	     Average [B]
	123,900 
	118,800 

	
	
	
	
	

	
	
	Return on total equity [A]/[B]
	4.52%
	4.95%


	
	6.
	Return on Common Equity =
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	Net income before nonrecurring items
	$  5,600 
	$  5,885 

	
	
	Less: Preferred dividends
	280 
	280 

	
	
	Numerator [A]
	5,320 
	5,605 

	
	
	
	
	

	
	
	Total common equity:
	
	

	
	
	     Beginning of year
	116,800 
	112,800 

	
	
	     End of year
	 123,000 
	 116,800 

	
	
	     Total
	$239,800 
	$229,600 

	
	
	
	
	

	
	
	Average [B]
	119,900 
	114,800 

	
	
	
	
	

	
	
	Return on common equity [A]/[B]
	4.44%
	4.88%


	
	7.
	Gross Profit Margin =
	
	

	
	
	Net Sales [B]
	$233,000 
	$204,000 

	
	
	Cost of Sales
	-124,000 
	-110,000 

	
	
	Gross Profit [A]
	$109,000 
	$ 94,000 

	
	
	
	
	

	
	
	[A]/[B]
	46.78%
	46.08%


	b.
	
	Net profit margin, return on total assets, return on investment, return on total equity, and return on common equity have declined. Total asset turnover and gross profit margin rose slightly. The problem appears to be in selling and administrative expenses, other income, and taxes, since gross profit margin rose.

	
	
	

	
	
	Of particular concern is the very low return to common shareholders. It is lower than return on total equity and investment, which indicates that preferred owners and creditors, who bear less risk, are getting a higher return.
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5.
The following data are taken from the financial statements of Motorise, Inc., for 2012 and 2011.

	
	2012
	2011

	Net sales
	$65,000
	$61,000

	Equity income (dividends: $65,$62)
	    320
	    365

	Total
	$65,320
	$61,365

	Total expenses, including taxes
	 63,800
	 59,700

	Net income
	$ 1,520
	$ 1,665

	
	
	

	Total assets
	$32,200
	$30,600

	Investment (using equity method)
	3,800
	2,800


Required:

	a.
	Compute the following ratios for both years, using total net income and assets. Use ending balance sheet figures.

	
	1.
	net profit margin

	
	2.
	return on total assets (use year-end total assets)

	
	

	b.
	Recompute the ratios, removing the effect of equity income on investments. (For return on total assets, use year-end total assets.)

	c.
	Discuss the change. Why is it advisable to remove equity earnings in this case?


ANS:


	a.
	1.
	
	2011
	2012

	
	
	Net Profit Margin =
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	2.34%
	2.73%

	
	2.
	Return on Total Assets =
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	4.72%
	5.44%


	b.
	Remove equity earnings and investments:
	
	

	
	1.
	Net Profit Margin =
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	1.85%
	2.13%

	
	
	
	
	

	
	2.
	Return on Total Assets =
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	4.23%
	4.68%


	c.
	Net profit margin declined when equity income was removed. Return on total assets also declined when equity income and investments were removed. The trend stays the same, however. The main reason for removing equity earnings is that they are not derived from the primary business and do not represent cash flow, since dividends are much lower.
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6.
The following is the summary quarterly financial data for Communico, Inc. (unaudited). Communico ends its year on March 31.

	2012
	June 30
	September 30
	December 31
	March 31

	Sales
	$2,100,000
	$2,350,000
	$2,350,000
	$3,700,000

	Gross profit
	905,000
	930,000
	1,090,000
	1,600,000

	Net income
	90,000
	220,000
	290,000
	550,000

	Earnings per share
	0.78
	0.88
	1.10
	1.55

	
	
	
	
	

	2011
	
	
	
	

	Sales
	$1,280,000
	$1,700,000
	$1,700,000
	$3,000,000

	Gross profit
	440,000
	650,000
	880,000
	1,500,000

	Net income
	88,000
	185,000
	240,000
	500,000

	Earnings per share
	0.44
	0.93
	1.20
	2.50


Required:

	a.
	Discuss the concept of seasonality raised by this data.

	b.
	Does it appear that this firm uses a natural business year?


ANS:


	a.
	This firm clearly operates with a seasonal pattern. Its busiest time, represented both by sales and profits, is January-March. Each quarter of the year builds up to this.

	
	

	b.
	This firm clearly uses a natural business year, counting inventory after peak sales when inventory is at its lowest.
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7.
The following is segment data for Audio-Visual Corporation.

	(in thousands)
	2012
	2011
	2010

	Revenues:
	
	
	

	     Broadcasting Division
	$1,500
	$1,100
	$  880

	     Records Division
	1,050
	780
	510

	     Book Division
	   450
	   380
	   210

	     Total
	$3,000
	$2,260
	$1,600

	
	
	
	

	Profits:
	
	
	

	     Broadcasting Division
	$  270
	$  226
	$  175

	     Records Division
	72
	95
	68

	     Book Division
	    41
	    28
	    18

	     Total
	$  383
	$  349
	$  261

	
	
	
	

	Identifiable Assets:
	
	
	

	     Broadcasting Division
	$  600
	$  380
	$  280

	     Records Division
	560
	450
	300

	     Book Division
	   300
	   240
	   160

	     Total
	$1,460
	$1,070
	$  740

	
	
	
	

	Capital Outlays:
	
	
	

	     Broadcasting Division
	$   40
	$   25
	$  20

	     Records Division
	28
	20
	11

	     Book Division
	    12
	    10
	    5

	     Total
	$   80
	$   55
	$  36


Required:

	a.
	Compute profit/revenues and profit/assets for the three divisions and in total for all three years.

	b.
	Discuss your findings.

	c.
	Evaluate this firm's capital expenditure policy, given the results in parts (a) and (b).


ANS:


	a.
	
	
	2012
	2011
	2010
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	18.00%
	20.55%
	19.89%

	
	
	
	
	
	

	
	
	Records
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	6.86%
	12.18%
	13.33%

	
	
	
	
	
	

	
	
	Book
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	9.11%
	7.37%
	8.57%

	
	
	
	
	
	

	
	
	Total
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	12.77%
	15.44%
	16.31%
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	45.00%
	59.47%
	62.50%

	
	
	
	
	
	

	
	
	Records
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	12.86%
	21.11%
	22.67%

	
	
	
	
	
	

	
	
	Book
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	13.67%
	11.67%
	11.25%

	
	
	
	
	
	

	
	
	Total
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	26.23%
	32.62%
	35.27%


	b.
	The overall trend in profit/revenue and profit/assets for this firm is downward, with the biggest drop in 2012. The major cause of this is the declining profitability in the Record Division. Lower profit margins in the Broadcasting Division also have an impact, especially since this is the biggest division.


	c.
	One way to answer this is to look at capital outlays/identifiable assets.

	
	
	
	
	
	

	
	
	
	2012
	2011
	2010

	
	
	
	
	
	

	
	
	Broadcasting
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	6.67%
	6.58%
	7.14%

	
	
	
	
	
	

	
	
	Records
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	5.00%
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	3.67%

	
	
	
	
	
	

	
	
	Book
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	4.00%
	4.17%
	3.13%

	
	

	
	The high profit ratio would support expansion in Broadcasting where capital outlays as a percent of assets are highest. However, the drop in profitability in Records does not support a rising rate of expenditures to assets.

	
	

	
	The increasing expenditure in the book segment can likely be justified by the improved profitability of this segment.
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8.
Friendly Bookstore has experienced rapid growth since its formation in 2008. Following is selected data from its annual report.

	
	2012
	2011
	2010
	2009
	2008

	Sales
	$1,500,000
	$1,260,000
	$970,000
	$840,000
	$600,000

	Cost of Sales
	1,008,000
	971,000
	598,000
	515,000
	360,000

	Net Profit
	60,000
	53,000
	46,000
	39,000
	30,000

	Total Assets
	1,489,000
	1,100,000
	897,000
	768,000
	545,000

	Number of Books Sold
	97,500
	85,703
	73,192
	63,200
	45,187


Required:

	a.
	Perform a horizontal, common-size analysis of the data given, using 2008 as the base year.

	b.
	Comment on the results.


ANS:


	                                                  Horizontal Common-Size Analysis

	a.
	
	2012
	2011
	2010
	2009
	2008

	
	Sales
	250.0%
	210.0%
	161.7%
	140.0%
	100.0%

	
	Cost of Sales
	280.0%
	269.7%
	166.1%
	143.1%
	100.0%

	
	Net Profit
	200.0%
	176.7%
	153.3%
	130.0%
	100.0%

	
	Total Assets
	273.2%
	201.8%
	164.6%
	140.9%
	100.0%

	
	Number of Books Sold
	215.8%
	189.7%
	162.0%
	139.9%
	100.0%


	b.
	Sales have grown rapidly but at a slower rate than costs of sales. This has caused a lower rate of profit growth.

	
	

	
	Assets have grown faster than sales, indicating that the firm is generating less sales per dollar of assets. It is also generating less profit on assets, since profits grew much more slowly than assets.

	
	

	
	The number of books sold has grown less rapidly than total sales. This indicates a rise in selling price per book sold.
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9.
Condensed comparative financial statements for Woodstock Manufacturing Company appear below.

	Balance Sheet

	April 30

	(in thousands of dollars)

	

	
	2012
	2011
	2010

	Assets:
	
	
	

	   Current assets
	$ 1,700
	$1,120
	$1,544

	   Plant and equipment (net) 
	8,110
	7,830
	5,404

	   Other assets
	  1,004
	   695
	   772

	   Total assets
	$10,814
	$9,645
	$7,720

	
	
	
	

	Liabilities and Stockholders' Equity:
	
	
	

	   Current liabilities
	$   950
	$  880
	$  772

	   Long-term liabilities
	2,023
	1,591
	1,544

	   Capital stock ($10 par)
	4,600
	4,600
	3,000

	   Paid-in capital in excess of par
	770
	770
	386

	   Retained earnings
	  2,471
	 1,804
	 2,018

	      Total liabilities and stockholders' equity
	$10,814
	$9,645
	$7,720


	Income Statement

	For the Year Ended April 30

	(in thousands of dollars)

	

	
	2012
	2011
	2010

	Net sales
	$38,610
	$32,175
	$25,740

	Cost of sales
	 25,100
	 19,950
	 15,400

	   Gross profit
	$13,510
	$12,225
	$10,340

	Selling expenses
	7,700
	6,565
	5,148

	Administrative expenses
	  4,270
	  4,175
	  3,861

	   Total operating expenses
	$11,970
	$10,740
	$ 9,009

	   Operating income
	$ 1,540
	$ 1,485
	$ 1,331

	Interest expense
	    115
	     95
	    100

	Net income before tax
	$ 1,425
	$ 1,390
	$ 1,231

	Income taxes
	    655
	    645
	    541

	   Net income
	$   770
	$   745
	$   690


Required:

Perform a horizontal, common-size analysis of the balance sheet items, using 2010 as the base year. Also include a horizontal analysis of sales and net income. Comment on significant trends and relationships revealed by the computations.
ANS:


	Horizontal Common-Size Analysis    

	
	2012
	2011
	2010

	Assets:
	
	
	

	   Current assets
	110.1
	72.5
	100.0%

	   Plant and equipment (net)
	150.1
	144.9
	100.0%

	   Other assets
	130.1
	 90.0
	100.0%

	   Total assets
	140.1
	124.9
	100.0%

	
	
	
	

	Liabilities and Stockholders' Equity:
	
	
	

	   Current liabilities
	123.1
	114.0
	100.0%

	   Long-term liabilities
	131.0
	103.0
	100.0%

	   Capital stock ($10 par)
	153.3
	153.3
	100.0%

	   Paid-in capital in excess of par
	199.5
	199.5
	100.0%

	   Retained earnings
	122.4
	 89.4
	100.0%

	   Total liabilities and stockholders' equity
	140.1
	124.9
	100.0%

	   Sales
	150.0
	125.0
	100.0%

	   Net Income
	111.6
	108.0
	100.0%


In 2011, the firm had a significant increase in plant and equipment. There was also a substantial rise in common stock and paid-in capital. Apparently, the expansion was primarily financed by a stock sale.

From 2011 to 2012, there is a substantial rise in current assets, from a drop in 2011. There also is a large rise in long-term liabilities.

Sales have risen faster than assets, indicating increased turnover. However, profits have risen much more slowly than sales. In 2011, the firm must have paid substantial dividends, since retained earnings declined, despite the net income.
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Revenues by Major Product Lines
KEY:
Bloom's: Application

NOT:
Time: 20 min.



10.
Condensed comparative financial statements for Woodstock Manufacturing Company appear below.

	
	April 30, 2012
	April 30,  2011
	April 30, 2010

	Assets:
	
	
	

	Current assets
	$ 1,700
	$1,120
	$1,544

	Plant and equipment (net)
	8,110
	7,830
	5,404

	Total assets
	  1,004
	   695
	   772

	
	$10,814
	$9,645
	$7,720

	
	
	
	

	Liabilities and Stockholders' Equity:
	
	
	

	Current liabilities
	$   950
	$  880
	$  769

	Long-term liabilities
	2,023
	1,591
	1,544

	Capital stock ($10 par)
	4,600
	4,600
	3,000

	Paid-in capital in excess of par
	770
	770
	389

	Retained earnings
	  2,471
	 1,804
	 2,018

	Total liabilities and stockholders' equity
	$10,814
	$9,645
	$7,720


	Income Statement

For the Year Ended April 30

(in thousands of dollars)

	

	
	2012
	2011
	2010

	Net sales
	$38,610
	$32,175
	$25,740

	Cost of sales
	 25,100
	 19,950
	 15,400

	Gross profit
	$13,510
	$12,225
	$10,340

	Selling expenses
	7,700
	6,565
	5,148

	Administrative expenses
	  4,270
	  4,175
	  3,861

	Total operating expenses
	$11,970
	$10,740
	$ 9,009

	Operating income
	$ 1,540
	$ 1,485
	$ 1,331

	Interest expense
	    115
	     95
	    100

	Net income before tax
	$ 1,425
	$ 1,390
	$ 1,231

	Income taxes
	    655
	    645
	    541

	Net income
	$   770
	$   745
	$   690


Required:

Perform a vertical, common size analysis of the income statement. Comment on significant trends.
ANS:


	Vertical Common Size Analysis        

	
	2012 
	2011
	2010

	Net sales
	100.0%
	100.0%
	100.0%

	Cost of sales
	 65.0 
	 62.0 
	 59.8 

	Gross profit
	35.0 
	38.0 
	40.2 

	Selling expenses
	19.9 
	20.4 
	20.0 

	Administrative expenses
	 11.1 
	 13.0 
	 15.0 

	Total operating expenses
	 31.0 
	 33.4 
	 35.0 

	Operating income
	4.0 
	4.6 
	5.2 

	Interest expense
	   .3 
	   .3 
	   .4 

	Net income before tax
	3.7 
	4.3 
	4.8 

	Income taxes
	  1.7 
	  2.0 
	  2.1 

	Net income
	  2.0%
	  2.3%
	  2.7%


Although absolute profits have risen, the profit margin on sales has declined steadily. The principal cause of the decline is increased cost of sales. Cost of sales have risen from 59.8% to 65.0%. This increase is offset by declining selling and administrative costs in relation to sales. Taxes as a percent of sales also have declined.
PTS:
1
DIF:
Difficulty: Moderate

NAT:
BUSPROG: Analytic

STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Revenues by Major Product Lines
KEY:
Bloom's: Application

NOT:
Time: 15 min.



11.
The Clothes Clutch, a retail clothier, has had average sales of $400,000 for the last five years, 2008-2012. The firm's total assets at the end of 2010 were $400,000.

An internal staff cost analyst has prepared the following financial data from the annual reports. You have been hired as a consultant to help analyze the financial position.

	
	2012 
	2011
	2010
	2009
	2008

	Current Ratio
	2.80 
	2.43 
	2.36 
	2.10 
	2.00 

	Acid Test Ratio
	2.03 
	1.93 
	1.82 
	1.61 
	1.47 

	Days' Sales in Receivables
	61 
	58 
	54 
	42 
	35 

	Merchandise Inventory Turnover
	4.20 
	4.10 
	4.10 
	3.90 
	3.70 

	Debt Ratio
	0.48 
	0.50 
	0.49 
	0.47 
	0.47 

	Times Interest Earned
	4.60 
	4.80 
	5.90 
	5.70 
	6.00 

	Sales as a Percent of 1996 Sales
	1.46 
	1.23 
	1.12 
	1.06 
	1.00 

	Net Income as a Percent of 1996
	
	
	
	
	

	   Income
	1.31 
	1.20 
	1.10 
	1.06 
	1.00 

	Gross Profit Margin
	38.5%
	38.8%
	38.9%
	40.0%
	39.7%

	Operating Expenses to Net Sales
	11.4%
	11.3%
	11.5%
	11.4%
	11.7%

	Net Profit Margin
	7.6%
	8.6%
	8.9%
	9.4%
	9.3%

	Return on Total Assets
	9.4%
	9.6%
	9.6%
	10.0%
	10.7%


Required:

	a.
	Explain the trend in liquidity. Make specific reference to the effect of receivables and inventory on this trend.

	b.
	Briefly describe the trend in the long-term, debt-paying ability of The Clothes Clutch. Explain the cause(s) of this trend.

	c.
	The net profit margin has declined substantially. Cite and discuss specific causes of this.

	d.
	Has the firm utilized its total assets effectively? Discuss the ability of the firm to generate sales based on total assets. (Use DuPont analysis.)

	e.
	Specifically cite and briefly describe two additional types of information that would aid in your analysis.


ANS:


	a.
	Both the current ratio and acid-test ratio have risen. Initially, this might appear to be a good sign. However, days' sales in receivables have nearly doubled, indicating a worsening problem in the collection of receivables. This problem could cause the rise in the current ratio and acid-test ratio.

	
	

	
	Merchandise inventory turnover has increased, although not substantially. This indicates better movement of inventory. Overall, liquidity appears to be good, but not as good as it appears based on the current ratio and acid-test ratio because receivables appear to create a liquidity problem.


	b.
	Two measures of long-term, debt-paying ability are given. The debt ratio appears to be relatively stable. However, the times interest earned ratio has declined. This indicates that the firm is not covering its debt as well as it did previously. This decrease could restrict its future borrowing power.


	c.
	Gross profit margin has declined slightly, indicating a slight rise in the cost of goods sold. Operating expenses to net sales has remained relatively stable. Other causes of the decline could be other income and expense items, such as interest expense. Problems with interest were already indicated in times interest earned.


	d.
	This question calls for the use of DuPont analysis, specifically, asset turnover.

	
	
	
	
	
	
	
	

	
	
	Return on
	=
	Net Profit
	
	Total Asset
	

	
	
	Total Assets
	
	Margin
	
	Turnover
	

	
	2012
	 9.4
	=
	7.6
	
	1.24
	

	
	2011
	 9.6
	=
	8.6
	
	1.12
	

	
	2010
	 9.6
	=
	8.9
	
	1.08
	

	
	2009
	10.0
	=
	9.4
	
	1.06
	

	
	2008
	10.7
	=
	9.3
	
	1.15
	

	
	

	
	This computation shows that part of the decline in net profit margin between 2008 and 2010 has been offset by increased turnover. Increased turnover indicates more efficient use of assets to generate sales dollars.


	e.
	Almost any type of additional data would be of help. Some of the better suggestions are:

	
	Common-size analysis

	
	Industry statistics

	
	The cash flow statement

	
	Other specific ratios

	
	Segment data

	
	Competitors data


PTS:
1
DIF:
Difficulty: Challenging
NAT:
BUSPROG: Analytic

STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability Measures
KEY:
Bloom's: Application

NOT:
Time: 25 min.


MATCHING
Below is a list of terms related to trend analysis and other types of financial information and services.

Required:

Match each term to its best description or definition.

	a.
	Full or partial statements expressed in percentages of a given base.

	b.
	Requires full financial statements on a quarterly basis.

	c.
	All statement figures are expressed as a percentage of a base figure from that year's statement.

	d.
	A breakdown by major lines of business, only required in SEC reporting.

	e.
	A breakdown by major lines of business.

	f.
	All statement figures are expressed as a percentage of base-year figures.

	g.
	Requires estimation of some expense items.

	h.
	A comparison of financial data over time.

	i.
	Visual aids to understanding financial data.



1.
Vertical, common-size statement

2.
Segment reporting

3.
Interim reporting

4.
Trend analysis

5.
Common size

6.
Horizontal

1.
ANS:
C
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 10 min.



2.
ANS:
E
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 10 min.



3.
ANS:
G
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 10 min.



4.
ANS:
H
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 10 min.



5.
ANS:
A
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 10 min.



6.
ANS:
F
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 10 min.


Listed below are several ratios.

Required:

Match the ratio that goes with each formula.

	a.
	net profit margin

	b.
	total asset turnover

	c.
	return on assets

	d.
	DuPont return on assets

	e.
	operating income margin

	f.
	operating asset turnover

	g.
	return on operating assets

	h.
	DuPont return on operating assets

	i.
	sales to fixed assets

	j.
	return on investment

	k.
	return on total equity

	l.
	return on common equity

	m.
	gross profit margin
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16.
Operating Income Margin  Operating Asset Turnover

17.
[image: image75.png]Net Sales
Average Operating Assets





18.
Net Profit Margin  Total Asset Turnover

19.
[image: image76.png]Net Sales
Average Total Assets





7.
ANS:
L
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



8.
ANS:
J
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



9.
ANS:
A
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



10.
ANS:
C
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



11.
ANS:
E
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



12.
ANS:
G
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



13.
ANS:
I
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



14.
ANS:
K
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



15.
ANS:
M
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



16.
ANS:
H
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



17.
ANS:
F
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



18.
ANS:
D
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.



19.
ANS:
B
PTS:
1
DIF:
Difficulty: Moderate


NAT:
BUSPROG: Analytic



STA:
AICPA: FN: Measurement | ACBSP: Financial Statement Analysis | IMA: Financial Statement Analysis
TOP:
Profitability
KEY:
Bloom's: Knowledge


NOT:
Time: 30 min.
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